


(805)486-4700
(805)486-4799 - fax

1551 S. Rose Ave.

Oxnard, CA 93033

www.prosolar.com

All Angles
6-1/2" +/- 3/4"

Front Extension Height*

15 Degree
19" +/- 3/4"

10 Degree
14-1/2" +/- 3/4"

5 Degree
11" +/- 3/4"

Rear Extension Height*

*Height from roof surface to

bottom of support rail

Standard SolarWedge® Technical Information
> Load Tested and engineered to 30 lbs. per ft2 (approx.110mph wind load 

equivalent)

> Utilizes FoamJack® Laboratory tested to 2,870 lbs. vertical and 2,615 lbs. side 

lateral pull out using a 3/8" x 6" lag bolt (secured at approx. 6-1/2").

> Structurally attached to the roof - extremely important in areas with 

potential horizontal and vertical seismic movement such as California.

> Available in 5o, 10o or 15o angles. Optimized to help reduce typical 

peak summer demand charges.

Assembly of the SolarWedge®
Components of the SolarWedge® 
system easily integrate with the 
new XD support rail.

Three Sizes Available
SW5-6  (5 Degree Kit)

SW10-6 (10 Degree Kit)

SW15-6 (15 Degree Kit)

12 ea.

Leveling 
Studs

6 ea.
1" Dia. Aluminum
Rear Posts

6 ea.
1" Dia. Aluminum
Front Posts

12 ea.
1.5" Dia.
Aluminum
Bases

12 ea.
Aluminum
Compression
Nuts

12 ea.
Aluminum
Lower Rail 
Supports

36 ea.

24 ea.

12 ea.
3/8" SS Flat Washers

Attachment Parts List (Per Box)
Shipped in a shoe box sized package, the SolarWedge XD attachment 
components offer easy handling and  storage along with reduced shipping 
costs.

Not to scale

Rear View
3" XD Support Rail

8' Span between 

attachments for commercial

construction only

Fully Assembled

3" XD Rail

Lower Support

Compression

Nut

Jam Nut/

Jam Nut/

Jam Nut

12 ea.
3" x 3" Aluminum
Seal Plates

5"

12"

6"

3.3 kW
DC*

Attachment Box Dimensions

*using 210 WDC 

modules

Each box contains enough
attachments to
install up to
3.3 kWDC

10 Degree Box

Dimensions

Illustrated

4' O.C.

8' O.C.

SWXD20080219

Specifications are 

subject to change 

without notice.

Patent #6,360,491 and D547262

    Washer

    Washer

3/8" x 4" SS 

3/8" SS Jam Nuts

3/8" SS Flat Washers


	SolarwedgeXD_brochure


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


